C:h Dividing with a Numberline Name:

Use the numberlineto solve each problem. Answers

1) 9+3: 0

T ©
——
o

2) 6+2= (I) 6 10
|

3) 12+4=¢ 10 12 20

4) 15+5=q 10 15 20

5) 28+7=9 10 20 28

6) 40+10=¢ 10 20 30 40

11.

7) 24+6=0 10 20 24 30

8) 30+10=0 10 20 30

9) 30+6=¢ 10 20 30

10) 12+3=q 10 12 20

11) 18+6=¢ 10 18 20
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ﬂh Dividing with a Numberline Name. Answer Key

Use the numberlineto solve each problem. Answers

1) 9+3= ?/V_\/N

f f f f ! > 1 3

——
o

2) 6+2= 6 10

3) 12+4= 10 2 20

4) 15+5= (KV—\HQ/—\%S 20 6
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 I >

5) 28+7= 10 8 30 8. 3

10. 4

11. 3

4+ttt

9) 30+6= T 0 0

10) 12+3= 0 2 20

11)
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Dividing with a Numberline Name:
Use the numberlineto solve each problem. Answers
1) 15+5=¢ 10 15 20
-ttt 1
2.
2) 12+4=cl> 1012 20
I I I I I = I I I I I I = = I I I I I = = > 3
_ 4.
3) 16+8=¢ 10 16 20
I I I I I I I } I I I I I I I I } I I I } > :
4) 36+9=¢ 10 20 30 36 40 °
7.
5 8+2=¢ 8 10 8,
e e B S e
9.
6) 16+4=¢ 10 16 20
I l l l l I l l l l I l l l l l l l I l l > 10'
(L L o T
11.
7) 6+2=¢ 6 10
I S S S S S e B
8) 28+7=¢ 10 20 28 30
L. —— | IR R ' | ———t [ | ———t | ———t ———t >
| I | ] I
9 6+3=g 6 10
I ! ! } ! I ! ! ! ! I ! ! ! } >
10) 10+2=9 10
S S e e S e e R A I S S 2
11) 12+3=¢ 10 12 20
——tt————————]»
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Name:

ﬂh Dividing with a Numberline

Answer Key

Use the numberlineto solve each problem.

1) 15+5= (KW\%S !

B B e s B A
2) 12+4= 10 2 20
Il I ll=l I ||== ! =l=ll ||=|=>
3) 20
| | | I =>
4) 36+9= 0 6 40
5) 8+2: 10
L e e A S B A
6) 20
———f——>
7)
! ! } =>
8) 28:7= 10 8 30
I I L L L T L B e B e S R O 2
9) 6:3= 6 10
I 1 1 1 1 I J 1 1 } I 1 1 1 =>
10) 10:2= 0
]t
11) 12+3= 0 2 20
——t)———————]>

Answers
1 3
2 3
3, 2
a 4
5. 4
6. 4
7. 3
8. 4
9. 2
10. o)
11. 4

1-10
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C:h Dividing with a Numberline Name:

Use the numberlineto solve each problem. Answers

1) 30+10=¢ 10 20 30

v
=

2) 28+7=¢ 10 20 28 30

3) 6+3= (I) 6 10
|

4) 32+8=¢ 10 20 3|o

5) 15+3=0 10 15 20 8.

6 . 5=
) 10+5=¢ 10 | 0.

11.

7) 18+6=0 10 18 20

8) 20+10=¢ 10 20

9) 36+9=¢ 10 20 30 36 40

10) 20+4=¢ 10 20

11) 9+3= 9 lIO
—
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ﬂh Dividing with a Numberline Name. Answer Key

Use the numberlineto solve each problem.

1) 30+10=¢

Answers

— 1 3

2)28+7=WW—\29\/—\;830
A I e L e B L B T T R S R R B S A

3) 6+3= 6 10

4) 32+8= 20 2

5) 15+3= 0 5 20

6)

10. )

7)

11. 3

8)

9 36+9= 0 6 40

10) 20+4= 10 0

I I | I | | I I | I I I I | I
I
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C:h Dividing with a Numberline Name:

Use the numberlineto solve each problem. Answers

1) 9+3=¢ 9 1|o
—

2) 10+5=¢ 10

3) 32+8= 10 20 30 32

o I e B e

I

5) 24+6=0 10 20 24 30 8.

6) 24+8=0 10 20 24 3|o 10

11.

7) 4+2=c|) 4 10
I

8) 30+6=9 10 20 30

9) 20+4= 10 20

10) 20+10=9 10 20

11) 12+4=g 10 12 20
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ﬂh Dividing with a Numberline

Name. Answer Key

Use the numberlineto solve each problem.

Answers

3

1) 0+3= ?/—WN 10
l l l l I l l l l I l l l l I l
|

2)

2 2

3)

4)

S T . TR i T T -
e e e v b e e Y b e Y by
| L L L

RN

5)

10.

11.

8) 30:6= T

9)

10)

11)

[ M ath ] www.CommonCoreSheets.com

1-10
11

82|73]64(55(45]|36]|27[18] 9 |




JL_

Dividing with a Numberline Name:
Use the numberlineto solve each problem. Answers
1) 35+7=¢ 10 20 30 35 40

2.
2) 21+7=¢ 10 2021
I [ I I = I I [ = —1t I I = ' ' | ' ' ' ' ' > 3
_ 4.
3) 12?6:? 110 12 2|0
] ] ] ] I ] ] ] ] I } I I I I >
| ! | ! 5,
4) 6+2=¢ 6 10 °
| : : : : | : : | : >
7.
5 8+4=¢g 8 10 8.
-t : >
9.
6) 10+2=¢ 10
10.
4 ettt
11.
7) 18+6=¢ 10 18 20
e S B S B e — R — >
8) 45:9=¢ 10 20 30 40 45 50
9) 10+5=¢ 10
I 1 1 1 1 I 1 1 1 1 I } } } I 1 } } } >
10) 18+9=¢ 10 18 20
I T I L L L L A S S S S A A I A I IR I 2
11) 24+6=¢ 10 20 24
-ttt
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ﬂh Dividing with a Numberline Name. Answer Key

Use the numberlineto solve each problem. Answers
1) 35:7= 0 35 40
GRS TR TR » SR < S 1 5
2 3
2)
3 2
3
3) ‘
5 2
4) 6 5
7 3
5) 8 5
9 2
6) 10. 2
11. 4
7)
8)
9)
10)
11)
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C:h Dividing with a Numberline Name:

Use the numberlineto solve each problem. Answers
1) 12+6= 10 12 20
-ttt 1
2,
2) 50+10=¢ 10 20 30 40 50

4.
3 6+2=¢ 6 10
I 1 1 1 1 I 1 1 1 1 I } > :
4) 36+9=9 10 20 30 36 40 o
7.
5) 16+8=¢ 10 16 20 8.
4>
9.
6) 8+2=¢ 8 10
10.
-t
11.

7) 35+7=0 10 20 30 35 40

8) 40+10=9 10 20 30 40

9) 18+6=g 10 18 20
I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 } I 1 } 1 >
10) 10:2=¢ 10

11) 30+6=¢ 10 20 30
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ﬂh Dividing with a Numberline Name. Answer Key

Use the numberlineto solve each problem. Answers
1 12+6=9//"”“____‘““\\v//”""__"ib“\\Q2 20 5
-ttt 1

2 S
2) 50+10= 0
4 4
3) 6+2= 6 10
I ! ! ! ! I ! ! ! ! I => : 2
4) 36+9= 5 6 40 6. 4
7 5
8 4
9 3
10. S
11. 5

10) 10:2= 0

11)
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C:h Dividing with a Numberline Name:

Use the numberlineto solve each problem. Answers
1) 24+6=¢ 10 20 24 30
Attt 1
2.
2) 16+8=9 10 16 20
I ! ! ! ! = ! ! ! ! = ! ! ! ! = ! ! ! ! = ! ! > 3
4,
3) 10+2=g 10
I ! ! ! ! I ! ! ! ! I ! ! ! ! I ! ! ! ! > :
4) 40+8=( 10 20 30 40 50 6
7.
5) 6+2= 6 10 8.
-t
9.
6) 40+10= 10 20 30 40 10
11.
7) 20+10=¢ 10 20 30

8) 18+9=¢ 10 18 20
I [ I I = I I —1} I [ I I = ' I —1} I I [ ' = I I >
9) 27+9=¢ 10 20 27 30
RS TNN N U ST S N TN ST SN NN ST SN SN SN (NS SN S NS SN S NS S T N >
I T I T I T T T T I T I T T T T I T T T T I T I
10) 36+9=¢ 10 20 30 36 40

11) 8+4=g 8 10

1-10 | 9182 73|64 [55[45(36]|27|18] 9 |
[ Math ] www.CommonCoreSheets.com 7 1 |0




ﬂh Dividing with a Numberline Name. Answer Key

Use the numberlineto solve each problem. Answers
1) 24+6= 30
F————» 1 4
2 2
2) 20
! ! ! = ! } > 3 5
4 5
3) 10:2= 0
I ! I ! I I I ! I ! | ! ! ! ! I ! ! ! ' > : 3
6 4
7 2
8 2
9 3
10. 4
11. 2

9)27+9:(KN6/—\40’—\%7 310
I::::'::::I::::'::::I::::I::::I::::':>

10) 36+9= 0 6 40

11) 84=q ——— — 3§ 10
! ! ! ! | ! ! } ! I ! ! ! ! >
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C:h Dividing with a Numberline Name:

Use the numberlineto solve each problem. Answers
1) 50+10=0 10 20 30 40 50
2.
2) 16+4=9 10 16 20
I ! ! ! ! = ! ! ! ! = ! ' ! ! = ! ! ! ! = ! ! ! ! = > 3
4.
3) 14+7=¢ 10 14
I ! ! ! ! I ! ! ! ! I ! ! ! ! I ! ! ! ! > :
4) 28+7=g 10 20 28 30 6.
I PN T TR TR NN TR N S | I PN TR TR TR NN TR N S I PN T TR N NN TR N S I "I >
L L L
7.
5) 20+4=¢ 10 20 8.
-ttt
9.
6) 45+9=0 10 20 30 40 45 50 10
11.
7) 20+10=9 10 20

8) 16+8= 10 16 20

9) 4+2:0 4

I 1 1 1 1 I 1 1 1 } >
10) 6+2=¢ 6 10

| : : : : | : : : : | >

11) 36+9=¢ 10 20 30 36 40

1-10 | 9182 73|64 [55[45(36]|27|18] 9 |
[ Math ] www.CommonCoreSheets.com 8 1 |0




ﬂh Dividing with a Numberline Name. Answer Key

Use the numberlineto solve each problem. Answers
1) 50+10= 0
e s |05
2 4
2)
> 3 2
4 4
3)
g . 5
2) 6 o
>
7 2
5) 20+4= 10 0 8. 2
H—t———t— 1 —+—+—+—+—t—+—+—+—+—1+—+—++1+>
9 2
>0 10. 3
11. 4
>
I I = =>
9) 42=¢ 4
I 1 1 1 1 I 1 1 1 =>
10) 6+2= 6 10
| : : : : | | : : : | >
11) 36+9:oﬁ _IE 4: ﬁ _|\_|_ ﬁo :QHG 40
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C:h Dividing with a Numberline Name:

Use the numberlineto solve each problem. Answers

1) 6+2=g 6 10

v
=

2) 18+9=¢ 10 18 20

3) 28:7=g 10 20 28 30
IS WA AT ST N SO S T W N SR SRR | PR | PR | — =>
L L L I |

4) 45:9= 10 20 30 40 45 50

5) 8+4=¢ 8 10 8.

6) 30+10=¢ 10 20 30 10
, .

11.

7) 0+3= 0
|
|

8) 20+5= 10 20

9 20+10=¢ 10 20

10) 12:6=( 10 12

11) 25+5=¢ 10 20 25 30
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ﬂh Dividing with a Numberline

Name. Answer Key

Use the numberlineto solve each problem. Answers
]_) 6+2:?/_Y_Y_\§ 10
e e e B B e e e > 1 3
2 2
2) 20
! = ! ! ! ! = > 3 4
4 5
3) BeT=g I~~~ B 30
PR TR N R NN TR S R TR S N S N TR R T S W N NN TR T —
L L D e e > 5 2
2) 6 3
7 3
5) 8 4
9 2
% w2
11. 5
7)
8)
9)
10)
11)
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C:h Dividing with a Numberline Name:

Use the numberlineto solve each problem. Answers
1) 18+9=¢ 10 18 20
> 1
2.
2) 15+5= 10 15 20
I ! ! ! ! = ! ! ! ! = ! ! ! ! = ! ! ! ! = ! ! ! > 3
4.
3) 8:2=g 8 10
I ! ! ! ! I ! ! ! ! I ! ! ! ! I ! ! } > :
4) 16+4=¢ 10 16 20 6.
R L T R B R A
7.
5) 40+10=¢ 10 20 30 40 8.
9.
6) 4+2=g 4 10
10.
R B S A
11.

7) 45-9=( 10 20 30 40 45 50

8) 15+3=¢ 10 15 20
I I I I I = I I I ' I I I I I = I I I I I I I I I >
9) 28:7=g 10 20 28 30

10) 16+8=¢ 10 16 20

11) 8+4=g 8 10
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ﬂh Dividing with a Numberline Name. Answer Key

Use the numberlineto solve each problem. Answers

1) 18+9=q
————— > 1 2

2)15+5=m/\135 20
— > 4

3) 8+ 2: 10

4) 16+4= 10 6 20

10. 2

11. 2

H—+—+—+t+++—+—t+—+—

10) 16+8= K—\/ﬂ)’\'@ 20
1 1 1 1 | 1 1 1 1 I 1 1 1 1 | i 1 1 1 | 1 1 >

! ! ! ! | ! ! } ! I ! ! ! ! | >
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